MULTIPLICATION: DECIMAL NUMBERS (H - SET 3)

CHALLENGE Name:
Time: Score: A

51 1 % 0.0176 = 5260 (.04 x 46.6 =
5120 0.02 x 0.033 = 20 0.1 x04 =
513 0.05 X 46 = 528) (0.005 x 4.7 =
51) O x 418 = 52090 (0.8 X 478 =
515 0.0009 x 0.35 = 80T X 2,57 =
516 0.0005 x 282 = )7 X 0.458 =
511 0.002 x 32.5 = 532 11 X 128 =
515 0.0006 x 269 = 330 X 209 =
51990 0.01 X 2.89 = 534 (0.002 x 153 =
5200 O x 2.13 = 535) (0.4 X 47.8 =
210 0.03 x 0.0137 = w010 x 1.72 =

522) 11 x 0.126 =

5230 (0.007 x 0.0184 =

520 (0.0002 x 290 =

5250 (0.1 X 4.65 =

Mathematics: Multiplication - Level 6 - Horizontal - Set 3
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538)

539)
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0.009 x 34.3 =

0.2 x 1.49 =

0.003 x 0.75 =

7 x0.014 =
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